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L)
Write as a fraction with a fraction bar.
a) 0.43 = {5 b) 0.21 = 4 ¢) 0.73 = {2
z)
Write as a fraction with a fraction bar.
a) 0.7= b) 0.4 =2 )0.6=32 d)2=2
e)5=2 £)0.8 =% g T=1 h) 0.1 = {5 p1=1
)3=1
3)
Write as a fraction with a fraction bar.
a) 8 =8 b) 0.56 = 42 ¢) 0.69 = {35 d3=3
e)5=2 f)2=2 g)3.8:%9:3% h)6.3:?—g:61%
i) 0.52 = 22 jrr="11
4)
Write as a fraction with a fraction bar.
__ 507 __ 108 _ 823
_ 14 _ 279 _ 369
g) 0.784 = & h) 0.395 = 5 i) 0.451 = {7

. _ 493
i) 0.986 = 493

Good Luck!
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